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CROSSWORD

Across

1Golf stroke; 5__ lunch; 10Sphere; 14God of thunder;
15Dens; 16” A Death in the Family” author; 17Containing
gold; 19Later!; 20Egg exterior; 21Primitive form of wheat;
23Clear tables; 25Deplete; 26A hobgoblin; 29Part of MIT;
31Homerun king Hank; 35Faulkner’s “___ Lay Dying”;
36Plumlike fruit; 37Sheath; 38Lacking depth; 40Floating
ice; 41Trojan War hero; 42Diet successfully; 43Pathetic;
44Caesar’s tongue; 45Achy; 46Extremely; 47Backpack part;
49Caustic chemical; 51Legging; 54Church instrument;
58Surf sound; 59Crookedness; 63Kitchen addition; 64Chip
maker; 65Bacchanalian cry; 66Saudi king; 67Discharge;
68Equinox mo.;

Down

1School orgs.; 2No way; 3Ripped; 4Hat; 5Bullfight cheer;
6Nasser’s org.; 7Juan’s uncle; 8Most loyal; 9Actor Davis;
10Knapsack; 11Currency exchange fee; 12Goneril’s father;
13Boxer Spinks; 18Sick “season”; 22Subtle difference;
24Grain stores; 25Function; 26Kind of metabolism; 27Milo
of “Barbarella”; 28Huge; 30Immediately; 32Elevate;
33Academy award; 34Destitute; 36Biases; 37Stand used

by painters; 39Unhurried; 40___ favor; 42Chop off;
45Loosefitting skirtlike garment; 46Stanzas; 48Knot again;
50___ hoo!; 51Not kosher; 52Roster used to assign duties;
53Pledge; 55Bestow; 56Looking down from; 57Russian no;
60Numbered hwy.; 61French possessive; 62Last: Abbr.;

Yesterday’s solution
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WE'RE REPLACING THE
EMPLOYEE HEALTH PLAN
WITH NANOROBOT
TECHNOLOGY.

WHY PO WE HAVE
SO MANY ANTIQUES
IN OUR HOME®

WELL INSERT TINY

S0, OUR  ONLY UNTIL

MEDICAL ROBOTS INTO
THEIR LOWER DIGESTIVE
TRACTS TO KEEP THEM
HEALTHY FOREVER.
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PLAN IS  THE ROBOTS
TO SHOVE CAN REPLACE
ROBOTS THEM.
UP ...

AND YOU
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How to play:
Place a number in the empty boxes in such a way that each row across, each column
down and each 9-hox square contains all of the numbers from one to nine.

Yesterday'’s solution
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